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import java.util. Scanner;

public class Sample3_1 {
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public static void main(String[] args) {
// TODO BEVERSNIZAY v R« AHXT
int point, rank;
Scanner sc = new Scanner (System. in) ;

System. out. printIn (" &% (0~100) Z AHHLTHFEW, );
point = sc.nextInt();

if (point < 0 || point> 100) {
System. out. println (" AJ) &7z BT N T3, 7) s
System. exit (1) ;

}

rank = point/10;

switch (rank) {
fEIEe I, 7); break;

case 6: System. out. println ("EGiE

case 7: System. out. println ("EGEIZE T, 7); break;
case 8: System. out. println (" IZETT, 7); break;
case 9:

case 10: System. out. println(
default: System. out. println(”

"HGREIXIH T, ) break;
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import java.util. Scanner;
public class Sample3_2 {

public static void main(String[] args) {
// TODO BEVERSNIZAY v R« AHXT
char ch;
String str;
Scanner sc = new Scanner (System. in) ;

System. out. println("A, I, U, E, O Oz AL TEREEW, 7);

str = sc.next();

ch = str. charAt(0) ;
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switch (ch) {

case A

case ~a’ ! System.out.println("3”); break;
case I’

case ~i’ ¢ System. out.println("V”); break;
case U

case U : System.out.println(”9”); break;
case E:

case e’ : System. out.println(”x”); break;
case 0

case 0o : System.out.println("F&”); break;
default : System. out.println("Z¥iL—LRNH Y £H A, 7);
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import java.util. Scanner;
public class Sample3_2d {

public static void main(String[] args) {
// TODO BEVERSNIZAY v R« AHXT
char ch;
String str;
Scanner sc = new Scanner (System. in) ;

System. out. println (A, I, U, E, O OfIunZATILTREFIV, 7);

str = sc.next();
ch = str. charAt(0) ;

switch (ch) {

case A

case A+ ! System. out.println("®”); break;
case ' I’

case ' I’+ ’: System. out.println("V\”); break;
case U :

case U+ ’: System. out.println(”9”); break;
case 'F’

case 'E'+ ! System. out.println(”x.”); break;
case 0’

case "0+ ’: System. out.println("F”); break;
default : System. out.println("ZE#a /L — 1L 0n"H Y XA, 7);
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import java.util. Scanner;
public class Sample3_3 {

public static void main(String[] args) {
// TODO BEVERSNIZA Y v R« AHXT
char ch;
String str;
Scanner sc = new Scanner (System. in) ;

System. out. println ("&, V, 9, z, B DM EZ AL TFE, 7);

str = sc.next();
ch = str. charAt(0) ;

switch (ch) {
case 3 ! System. out.println(”A”); break;
case ~ VY i System. out. println(”1”); break;
case = 9 ! System. out. println(”U”); break;
case = %’ ! System. out.println("E”); break;
case ~ ¥’ ¢ System. out. println(”0”); break;
default : System.out.println("ZE#/L—L203H0D £H A, 7);
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import java.util. Scanner;
public class Ex3 {

public static void main(String[] args) {
// TODO BENVER S NTZAY v K« ZAFZT
char 1) , 2) 5
String str;
Scanner sc = new Scanner (System. in) ;

System. out. println ("KA, KI, KU, KE, KO Ofifivh»az A LTIV, 7))
str = sc.next();

chl = str. charAt (0);

if (chl ="K 3) chl !="k")
System. out. println "ZH/L— L 03H D T/ A, 7);
else

{
ch2 = str.charAt(1);

switch (ch2) {

case A’ :
case ~a’ ! System. out.println("2>"); break;
case ' I':
case ~i’ ! System.out.println("%”); break;
case U :
case ‘U : System.out.println(”<”); break;
case E:
case € ! System.out.println("iF”); break;
case ‘0 :
case 0 : System. out.println("Z”); break;
default : System.out.println ("L —NLNHD A, 7);
}
}
}
}
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